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KCSE MINI-MOCK EXAMINATIONS

Instructions to Candidateés

(a} Write your name and class in the spaces provided above,

(b) Sign and write the date of the examinotion in the spaces provided above.

(c) This paper consists.of two sections; A and B.
~ (d) Answer all the questions in section A in the spaces provided.

(e) In section B, answer question 6 (compulsory) and either question 7 or 8 in the spaces provided

after question 8.
(f) This paper consists of 10 printed pages.
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SECTION A (40 marks)
Answer all the questions in this section in the spaces provided

1. The diagrams below show a red blood cell that was subjected to a certain treatment.

At start : - Atend of the experiment

(a) What name is given to the condition of the cell at the end of the experiment.(1 mérk} '
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Q@ Suggest a situation in the human body that could cause the red blood cells to become as
@ shown at the end of the experiment. . (2 marks)
\ _
<
Q\Q_’ : _
&'@ {d) Draw alabelled diagram to illustrate how a plant cell would appear if it was subjected to the
@ same treatment. - (3 marks)

&

(e)' Name a process in the human body that prevents the red blood cells from becoming as
shown at the end of the experiment. (3 marks)

2.1n a breeding experiment using snapdragon plants, pure-breeding red-flowered plants were
crossed with pure-breeding plants bearing white flowers. The seeds obtained were sown and
the plants that developed from them all produced pink flowers.

(a) If the pink-flowered plants were self-fertilised, work outlhe phenotypic ratio of the offspring
they would produce. (5 marks)



(b) Explain why there are no plants with red or white flowers in the offspring produced in (a)

above, (2 marks)
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(c) What is ax‘{ﬁ Cross? (1 mark)
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‘L—@ 3. (a) What is seed dormancy? (1 mark)
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(b) Give two advantages of seed dormancy to plants. (2 marks)
(c) State three internal causes of seed dormancy. (3 marks)
(2 marks) -

(d) Name two hormones that break seed dormancy.

4. Dnyango carried out an experiment to test the digestion of bread by salivary amylase. He
made a smooth paste using a slice of bread and some distilled water. He divided the mixture |
into three equal volumes which he put into three test tubes labeled A, B and C. He placed the .

" test tubes in the following conditions:
~ Test tube A: in a beaker of icy water at 5°C.

~ Test tube B: in a beaker of warm water at 38° C.
"~Test tube C: in a beaker of hot water at 60°C.
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- He +he n added ‘mi or frpsh}?aiwa to each test tune Aft::r fl\u’l-' r"amutes he *es‘re"l the c:mtnnts

of each of the test Iu*ws\ﬁ. ng Benedict’s solution. He took l.}e amou*‘nt of p*ec:mtatc formed as .

a measure of the.ar nt of starch already digested. '

He obtained the fgllowing results: :

R . |
) A\ . : —
o Test tube Volume of Preupltate |
Qq} o >~ A 10ml |
CUnE B 45 ml ,
< ~ C 1 ml \
©
< |
@Q/ (a) Which temperature is the most suitable for the digestion of starch? (1 mark)
) - .
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. @ : (b) Briefly explain why each of these test tube showed a different amount of precipitatb.
QO* ' _ - (i) Test tube A. ' _ © {1 mark)
(i) Test tube B. _ (1 mark)
(c) Why did he select Benedict's reagent to test the digestion of starch. _ (2 mark)

(d) Suggest, giving a reason, an alternative test that Onyango could have used to investigate the
digestion of starch by saliva. (2 marks)
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{e) Besides temperatur, “ame one other factor that may affect the rate of digestion of starch
by saliva. $§I ' Ay {1 mark)
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5. ThRdiagram below represents a mammalian nephron. .

c)\'

a) Using the letters given in brackets, label the parts where these processes take place.
~ultrafiltration (X) ' : (1 mark)
~ active reabsorption of glucose molecules (Y) (1 mark)
~ reabsorption of water under the influence of antidiuretic hormone (Z) (1 mark)

(b) Explain what occurs in the portion between M and N. - (2 marks)

(c) State the structural modifications of nephrons found in fresh water animals.

(2 marks)
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.~ . SECTION B (40 marks) |
Answer 'quéiﬁo% 6 (compulsory) and either question 7 or 8 in the spaces prbw’ded after question
8 \6
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'Q®9A farmer wished to plant certain species of the nitrogen-fixing Erythrina trees in his farm.
C?Q/ However, these seeds normally take a long time to germinate after sowing. To overcome this

Q,\k_ ~ problem, he did the following:

Q&_z } He put several Erythrina seeds in hot wai.er at 50°C. Hé removed bat.r.ﬁes of 20 seeds at one .
QO&Q, ' minute intervals and plarj_ted them in trays containing moist soil. After 15 days,. the number .of
<<c)‘- seedlingé that grewin egch tray were counted. The results obtained were as shown in the table
below:
Batch order Time intervals {minutes) Germinéted seeds | % Germination |
1st 0 " 3
2nd 1 3
A = o =
4th | 3 15
5th | 4 18
6th 5 13 ]
7th 6 10
B 7 6
~ 9th 8 2
10" 9 0
T | 10 ' 0
(a) Calculate the percentage germination rate for each batch. (2 marks)

(b) Use your results to plot a graph showing percentage germination against the duration in
which the seeds were soaked in hot water. o (6 marks)

(c) From the graph, give the expected number of seeds that would germinate if soaked for 4.5
minutes. =" : _ ' _ ~ (2 marks)
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(i‘ Using: t'm&\r%?oﬁ briefly descri be the effect ofths hot water trearment on sxaed germination
- of Erythrm% _ - (3 marks)’
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(e}' Explain the difference in the success of germination between seeds soakad in hot water and .
those not soaked. (3 marks)

(f) L‘xplafh why there was no germination of seeds soaked for 9 to 10 minutes. (1 mark)
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ment, suggest one other simple method that could be used to speed .

.up germination‘in Erg¥irinag. Ll {(I'mark) . -
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&Q,Q’ -(h) State two uses of water in seed germination. (2'marks)
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7. (a) Describe the role of hormones in the development of insects that show incomplete

metamorphosis.

(b) Describe the control of the heart beat in man.

8. Describe the various mechanisms of fruit and seed dispersal.

(10 marks)
(10 marks)

(20 marks)




